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POST GRADUATE DIPLOMA IN SCHOOL 
LEADERSHIP AND MANAGEMENT (PGDSLM) 

Term-End Examination 

June, 2015 

MES-008 : LEADERSHIP FOR BETTER 
SCHOOLS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 

weightage. 

1. Answer the following question in about 
600 words : 

What are the components of Key Performance 
Indicators (KPI) ? Give examples of good and bad 
KPIs. 

OR 

Discuss the key areas of the school that should be 
kept in focus while doing a school analysis. How 
will you prioritize needs and set objectives while 
developing a school plan ? 

2. Answer the following question in about 
600 words : 

Discuss the hierarchical administrative set-up and 
powers of the bodies that exercise control over 
schools. 

OR 
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Why should schools collaborate with the 
community ? Discuss the hurdles to school 
community partnership. 

	

3. 	Answer any four of the following questions in 
about 150 words each : 

(a) What are the barriers to community based 
learning ? 

(b) A teacher who employs diverse 
transactional styles demonstrates inclusive 
teaching behaviour. Discuss. 

(c) Discuss the characteristics and behaviours 
seen in emotionally disturbed children. 

(d) Explain the role of the headteacher in 
bridging the gap in achievement among 
children. 

(e) What are the qualities required by school 
leaders for managing change for school 
improvement ? 

(f) What are the steps involved in a school 
development plan ? 

	

4. 	Answer the following question in about 
600 words : 

Explain the concept of multiculturalism. As a 
headteacher, what steps would you take to make 
your school culturally responsive ? 
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